ﬂh Solving Words Problems (+ - + ) Name:

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

many bedrooms does the first floor have?

how many drawings can he make?

boxes. How many boxes does he have?

many people didn't wear costumes?

towels. How many towels did she buy?

many boxes does he need to sell?

unbroken crayons does he still have?

was the machine working?

money would he spend?

books did he have left?

Use addition, subtraction, multiplication or division to solve each problem. Answers

An architect built a house with 7 bedrooms total. If the second floor had 5 bedrooms. How

1.
Mike was drawing on scrap paper. He could fit 8 drawings on each page. If he has 2 pages, X
Tiffany was sending out birthday invitations to her friends. She sent out 3 on Monday and || 3-
4 on Tuesday. How many did she send total ?

4,
A delivery driver had to make 3 more stops on his route. At each stop he had to drop off 3

5.
For Bianca's birthday she received 28 dollars from her friends. If each friends gave her 7 6
dollars how many friends gave her money? '
Kaleb threw a Halloween party where 11 people showed up. If only 6 dressed up, how 7.

8.
Haley was buying hand towels for her house. She bought 4 white towels and 3 green

9.
Sam has to sell 28 chocolate bars to get a prize. If each box contains 7 chocolate bars, how 10
A contractor was buying wall outlets for a new house he was building. Each room needed 11.
3 outlets. If the house has 8 rooms, how many outlets does he need total ?

12.
For Isabel’s birthday she received 8 dollars from her friends and 8 dollars from her
relatives. How much money did she get for her birthday? 13,
Victor bought a crayon box with 11 crayons. If he accidently broke 2 of them. How many 14
Anindustrial machine made 8 shirts. It can make a 4 shirts a minute. How many minutes 15
An architect was building his two story house. On the first floor the house had 9 bedrooms
and the second floor had 6 bedrooms. How many bedrooms does the house have total ?
Larry's Lawn Care charges 4 bucksto trim ahedge. If Dave has 7 hedges, how much
George bought 17 books at the book fair. If he gave 8 of them to his brother, how many
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ﬂh Solving Words Problems (+ - + ) Name:

Answer Key

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

many bedrooms does the first floor have?

how many drawings can he make?

boxes. How many boxes does he have?

many people didn't wear costumes?

towels. How many towels did she buy?

many boxes does he need to sell?

unbroken crayons does he still have?

was the machine working?

money would he spend?

books did he have left?

Use addition, subtraction, multiplication or division to solve each problem. Answers
An architect built a house with 7 bedrooms total. If the second floor had 5 bedrooms. How
1 2
Mike was drawing on scrap paper. He could fit 8 drawings on each page. If he has 2 pages, X 16
Tiffany was sending out birthday invitations to her friends. She sent out 3 on Monday and || 3- !
4 on Tuesday. How many did she send total ?
a. 9
A delivery driver had to make 3 more stops on his route. At each stop he had to drop off 3
5. 4
For Bianca's birthday she received 28 dollars from her friends. If each friends gave her 7 6 5
dollars how many friends gave her money? '
Kaleb threw a Halloween party where 11 people showed up. If only 6 dressed up, how 7. /
8. 4
Haley was buying hand towels for her house. She bought 4 white towels and 3 green
9. 24
Sam has to sell 28 chocolate bars to get a prize. If each box contains 7 chocolate bars, how 10 16
A contractor was buying wall outlets for a new house he was building. Each room needed 11. 9
3 outlets. If the house has 8 rooms, how many outlets does he need total ? 5
12.
For Isabel’s birthday she received 8 dollars from her friends and 8 dollars from her
relatives. How much money did she get for her birthday? 13. 15
Victor bought a crayon box with 11 crayons. If he accidently broke 2 of them. How many 14 28
9
Anindustrial machine made 8 shirts. It can make a 4 shirts a minute. How many minutes 15
An architect was building his two story house. On the first floor the house had 9 bedrooms
and the second floor had 6 bedrooms. How many bedrooms does the house have total ?
Larry's Lawn Care charges 4 bucksto trim ahedge. If Dave has 7 hedges, how much
George bought 17 books at the book fair. If he gave 8 of them to his brother, how many
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-

Solving Words Problems (+ - + x) Name:
Use addition, subtraction, multiplication or division to solve each problem. Answers
24 9 2 4
2 4 7 16 t
5 16 9 7 5
1) Anarchitect built a house with 7 bedroomstotal. If the second floor had 5 bedrooms. How
many bedrooms does the first floor have? 3
2) Mike was drawing on scrap paper. He could fit 8 drawings on each page. If he has 2 pages, || 4.
how many drawings can he make?
5.
3) Tiffany was sending out birthday invitations to her friends. She sent out 3 on Monday and
4 on Tuesday. How many did she send total ? 6.
4) A déelivery driver had to make 3 more stops on his route. At each stop he had to drop off 3 || 7.
boxes. How many boxes does he have?
8.
5) For Bianca's birthday she received 28 dollars from her friends. If each friends gave her 7
dollars how many friends gave her money? 0.
6) Kaleb threw aHalloween party where 11 people showed up. If only 6 dressed up, how 10.
many people didn't wear costumes?
11.
7) Haley was buying hand towels for her house. She bought 4 white towels and 3 green
towels. How many towels did she buy? 12.
8) Sam hasto sell 28 chocolate barsto get a prize. If each box contains 7 chocolate bars, how
many boxes does he need to sell?
9) A contractor was buying wall outlets for a new house he was building. Each room needed
3 outlets. If the house has 8 rooms, how many outlets does he need total ?
10) For Isabel's birthday she received 8 dollars from her friends and 8 dollars from her
relatives. How much money did she get for her birthday?
11) Victor bought a crayon box with 11 crayons. If he accidently broke 2 of them. How many
unbroken crayons does he still have?
12) Anindustrial machine made 8 shirts. It can make a4 shirts a minute. How many minutes

was the machine working?
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